AT 2 % (5 4 ZBA6R)

AL A R

S

A FL H

A FI54ET7H28H

T % (% B ) 4

TEAiRs GHEBER) 1

o e D ALY A s
&5 T = ( & 3£ ) &P 23 AL %. IR E oy i % AL (5%)@) %A firg =

ﬁ%ﬁgi;ﬁﬁ&ﬁ%ﬁ%%@%ﬁ < ITRELRIR G R EE K LA

1
HRZE T 4238
TNAKE T B T3 1, 255, 000

2 SRR ELATF R 1, 329, 900
BTN 1, 209, 000
THBA R B SRR R R o 8, 730, 000

3 HHME T T =T 9, 282, 900
IRZETEB = 8, 439, 000
MER AR =Y X — L —= T Ea— L ANA 1, 330, 000

4 | ZHEA (kS b EE) B E 1, 058, 200
IRZEET KT 7 2 B HN 962, 000
A K KR v A ERE T B 3, 720, 000

5 W& A 7 e 3, 960, 000
TIRZELBT A= 58 5 A s i P 3, 600, 000
(B BRZE/ MR B BBV B skl s T3 ) 1, 280, 000

6 FRARZE = F > — 1, 276, 000
HRZE T R A o5 s ] 1, 160, 000
AR ETATEL K B AT R T2 B 9, 220, 000

7 W\FER R 1.3 9, 746, 000
HRZERT R F5 A FLE AT PN 8, 860, 000
FEHERERG I LA L ) 6, 790, 000

8 )~ A 2 B 7, 150, 000
ARZERT R £ B T RT Py 6, 500, 000
B AR ST N BBl AE S RE T 13, 510, 000

9 (R S AL 14, 410, 000
BRZE T R P55 A B b T+ PN 13, 100, 000
A S ARl AR T i 11, 580, 000

10 Ve ke T.2E(0R) 12, 430, 000
IRZEMT K751 & BN 11, 300, 000
FiEA - PRI ERE T F ) 5, 350, 000

11 Ve e T 3R 5, 720, 000
IRATHT KT A 2 F A ) 5, 200, 000
W/ NP ERE EKSE TH 20, 220, 000

12 (bR v A KR 21,802, 000

19, 820, 000

IRZEBT T 5 B T 2 B N




